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EXAMPLE 3:  

2

1 2

 



x e

y

  Sol:    

2

1

2

 



x e

y

   

) 2 ln( ln

1 2

 



x e

y

   

) 2 ln( 1

2

  

x y

   

1 ) 2 ln(

2

  

x y

   

1 ) 2 ln(

   

x y

  1.1   Invers function   I F   

y x x y sin sin

1

  



  OR 

x y y x

1

sin sin



  

  EXAMPLE 1:   Prove that 

x x

1 1

sin ) ( sin

 

  

  Sol:     Let 

) ( sin

1

x y

 



          

y x sin

 

          

y x sin

 

        

) ( sin

1

x y



 

  EXAMPLE 2:   Prove that 

) / 1( cos sec

1 1

x x

 



  Sol:     Let 

x y

1

sec





  L.H.S          

y x sec



         

y x cos /1



      

y x cos /1



      

) / 1( cos

1

x y





  So 

) / 1( cos sec

1 1

x x

 



  R.H.S        

